8,10 m?
(100%)

8,10 m?
(100%)

8,10 m?
(100%)

8,10 m? 8,10 m? 8,10 m?
(100%) (100%) (100%)

8,10 m?
(100%)

WE-06 .

WE-12 I

WE-13 WE-14 WE-15 WE-16 TYP VI
= TYP | TYP | TYP TYP I 1758 m*
5517 m2 53,25 m? 53,25 m? 53,25 m? 53,25 m? afkon

+ Balkon + Balkon + Balkon + Balkon + Balkon

I“I + Balkon

I“I WE-11

WE-9

DY TYP | TYP |
55,17'm 53,25 m? 53,25 m? | WE-07
+ Balkon + Balkon WE-8 + Balkon TYP VI

+ Balkon I

TYP IV
52,93 m?
+ Balkon

113,88 m?
+ Balkon

(100%) (100%)

(100%)

(100%)

(100%) (100%) (100%)

Wohnhaus Entwurf - OG1



	2024-01-26-BV-Zeuthen-WOHNEN-Obergeschoss-1
	1/EG-vers-02


